Chassis Parts, Bodywork, Seats Retail Price List

209 Speedway Karters
- 209 Speedwa}/ 19575 Redding Drive
ﬁ Karters Salinas, CA 93908
George Young 831-320-0800

209speedwaykarters@gmail.com

4/24/2025

Wheels & Tires

Quantity Order # Description Price
HT-MaxxisTire Set [Maxxis T-40 Tread Tires - 2- 11.5x 8-6 R Side; 1-11 x6.5-6 LR; 1-11x $370.00
5.5-6 LF.
Maxxis tire Maxxis T-40 Tread Individual Tire 11.5x 8 -6 $105.00
Maxxis tire Maxxis T-40 Tread Individual Tire 11x6.5-6 OR 11x5.5-6 $91.00
DC-Van KB Van K Black Aluminum Wheel Set- 2-10" x 6" Right Side, 1-8.5" x 6" $238.14
Left Rear, and 1- 6.5" x 6" Left Front
Van KWheel B [Van K Black Aluminum Wheel any size $62.50
DC-VanK Van K Polished Aluminum Wheel Set- 2-10" x 6" Right Side, 1-8.5" x 6" $208.98
Left Rear, and 1- 6.5" x 6" Left Front
Van KWheel |Van K Polished Aluminum Wheel $55.50|
Axle, Bearings, Sprocket Carrier, Adj Cassette & Hub & Sprocket Bolts
DC-PM-6482 |Hub Bolt 1/4"-28 x 1-1/2" bullet end ez thread Black Oxide $1.50
DC-AP-1228 |Flanged Nut 1/4"-28 Black Oxide $0.60
CL-Bolt-GH-SC |Bolt 1/4"-28 x 1-1/4" Cap Head Black Oxide ( Sprocket Carrier) $0.45
DC-PM-AX33CM |Axle 1-1/4"x 32-1/2" Black $89.30
DC-PM-18KS |Axle Key Set Black Oxide $9.00
DC-Axbearing |Axle Bearing 206 - 1-1/4"id x 2.440" od $14.25
DC-Axbearing-2 |Axle Bearing 207 - 1-1/4"id x 2.832" od $15.98
209RR-Acollar [|Axle Collar 1-1/4" W/Key Slot $7.50
DC-PM-15 Sprocket Carrier $60.10
WMS-SG Aluminum Sprocket Guard - Black $25.00
DC-PM-35 Adjustable Axle Bearing Cassette $81.00
209EB-Clevis [Clevis Pin for Cages on Cage Karts 1/4" x 1-1/2" EZ latch design $1.89
Brakes & Accessories
MCP-1383B 1- MCP Standard Brake Pad (sold by each) $18.00
MCP-889 Rubber Seal Cup for 7/8" Master Cylinder Piston (dot 5 fluid) 2 require $1.65
MCP-151 7/8" Master Cylinder Rebuild Kit. Piston, rubbers, spring, pins, cap & boot $23.95
MCP-879 Fill Plug W/O-ring for MCP Master Cylinder $1.25
MCP-878 O-Ring for MCP Master Cylinder Top Cover Plate $0.75
MCP-152 1-3/8" Caliper Rebuild Kit. 2 - 1-3/8" Pistons W/rubbers $22.95
MCP-1379 O-Ring only for 1-3/8" Caliper Piston (dot 5 fluid) 1 per piston required $2.00
MCP-111384 |Shim for Brake Pad (Millenium) $4.50
MCP-1382 Caliper Bleed Screw W/adapter $5.00
KMNT100 3/16" Brake Line per foot $0.50
Brakeline32 |32" Brake Line - Steel Braided $31.00
KMBF Brass Fitting For Pump/Caliper W/Ferrule and cap $2.25
KM905 3/16" Brass Ferrule only $0.45



mailto:209speedwaykarters@gmail.com

Chassis Parts, Bodywork, Seats Retail Price List

209AM-Dot5 |3.30z of Dot 5 Fluid $7.50
209AM-Dot4  [3.30z of Dot 4 Fluid $7.00
CL-DK-856 Brake Caliper Guard (universal) $16.00
Tie Rods, Tie Rod Ends, Steering Shaft, Spindle Parts
209RR-Snut  |Spindle Nut $3.00
209RR-KM206 [Spindle Spacer Mill Aluminum 5/8" id x 1/2" wide $1.40
209RR-KM205 |Spindle Spacer Mill Aluminum 5/8" id x 1/4" wide $1.25
209RR-PM-23-4 |Spindle Spacer Black Aluminum 3/4"" id x 1/4" wide $1.50
209RR-PM23-8 |Spindle Spacer Black Aluminum 3/4"" id x 1/8" wide $1.50
DC-PM-25-11.500]Tie Rod 11-1/2" $11.76
DC-PM-25-6.500 |Tie Rod 6-1/2" $11.76
DC-PM-25-7 [Tie Rod 7" $11.76
209AMZ-01 Tie Rod End 5/16" RH $7.50
209AMZ-02 Tie Rod End 5/16" LH $7.50
209AMZ-03 Tie Rod End 3/8" RH $7.50
209AMZ-04 Tie Rod End 3/8" LH $7.50
209AMZ-05 Tie Rod End 1/2" RH (Caster Block) $12.00
HT-Steering Shaft |Steering Shaft 22-1/2" $51.00
DC-PM-113CK |Tach Angled Mount (steering shaft mounted) $18.00
CL-MYChron  |MyChron 6s W/14mm Plug temp sensor,RPM Lead & Charger $600.00
Gas Tank & Mount
RLV-BWL2100 (3 Liter Gas Tank $58.00
HT-Tank Mount |Gas Tank Mount $10.50
209AM-Fuel-Filter [Fuel Filter Metal core $2.00
209RR -Fuel Line |Fuel Line NON Hardening per Foot $2.10
Bodywork, Seats & Accessories
CL-JKB-HS JKB High Side Figerglass Body. Available Black, White Blue & Red $220.00
CL-SEAT-JKB  [JKB High Back Figerglass Seat. Jr, Sm, Med, L, XL, XXL, 3XL special orde $125.00
Body Mount 10 Piece Dzua Body Mount Kit $47.00
Seat Mount Seat Mount Kit. 4 Bolts, Rubbers, washers & Nylocks $10.00
CL-KM220 Rubber Seat Mount Grommet $1.05
DC-ADJ-SS Seat Stay (not drilled) Adjustable for Height & Angle $21.00
CL-JR-PG-B Pedal Grip Black 3/8" hole $16.50
DC-1105110-L |Rear Loop Bumper 1" ID Attachment tube 19-1/2' ctr to ctr $83.00
HT-R Nerf Nerf Bar Right Side Millenium $59.50
HT-L Nerf Nerf Bar Left Side Millenium $59.50




